ESITLK

Terazinin iki kefesindeki islemlerin sonuclarinin ayni olmasi gerekiyor.
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10 - ... 146 8-5 T4 ..

9 - ... 141 1% - . 15 - 14

2 + ... 15 - 4 1 -2 F I
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Terazinin iki kefesindeki islemlerin sonuclarinin ayni olmasi gerekiyor.

6 - .. 1M-6 3+ .. 10 - 3

v+ 3 10 + 2 o = 4 14 - 3

11 -1 v = 4 183 -5 5+ ..

3 - .. 5-3 2 + 10 - 7

b+ 4 v + 5 3+ .. 14 - 4

13 - .. 15 - 4 . o + 3
ESITLIK

Terazinin iki kefesindeki islemlerin sonuclarinin ayni olmasi gerekiyor.

8 + 1 18 - .. v + 6 183 -1
8 - .. 9 -2 3+38 v = 4
14 - 10 e + 3 14 - 4 12 - .




